Semester 1 Final Review 2022

Wednesday, November 2, 2022 8:30 AM

Math 90 Semester 1 Final Review

1. Graph. Label two points(as ordered pairs) on the graphs
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2. Is the line containing the poinks (4, 2) and (-6, 3) parallel to the line that contains the points (1, 1) and )
i (le

(-9, 2)? Explain why or why not.
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3. Find the slope and y-intercept of each equation.

ay=3x+5 b.2x+y=8% c.y=—5—%x
ms 3 4 et }s-_\x-s
wt: (0/S) m:-2 m o= -at: (0,-S
C3 -t 3 (0,8) 2, ¢ ) 3-3 = M(K—Xu)

4. Find the equation of a line that as a slope of — andylntercept {0 E]
o= ‘ b b
} a 2 mX+*t

?fu s -\l-‘ x -0
5. Find the equation of the line that passes through the point (2, 1) that has
slope of -8. \6" - -?(X &')
}. (3 'g\( +l6
“.: ‘%x + N
6. Write the equatlon fort3 Sontalmng the point (1, 5) that has slope of 3.
.S +
‘3 § 3x-, $23x+Y 1""\( ,
-2 = 5(x~! )
7. Write the equation for the line contalnlng the point (12, 2) that has slope of — } 2 1
2 } Z k -
8. What are the x- and y-intercepts: 3x + 4y = 24 J X - g.’
2x= %Y (3.0) Yy (0. k) 0°z
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2 x,ls-txg,

8. What are the x- and y-intercepts: 3x + 4y = 24 dx-y
5= 2Y (710) ‘47‘ La) (D b) d ¢
x=3

9. 15 (-5, -1) a solution of the system?

-X -Sh = M
No z‘x_pja 212 (") )

x =
Solve. Use any method you prefer x q4(l-s) 1 R
32 Y(2)-13 e 23)S
10.y=4x-13 g-13 11. 2>< 37 23 (_1 3) 12. 10x+y=1f | -S
y=-x-3 e ( 3 y=2x-5 s / a: -4
Yx=! . 2 '4 -.z 10X+ 2x-S =
+x*'é f*’"’(’ g) 3 7 1Zx=b (.L -q)
‘Xsl ¢ /S J 3 fs X‘ 2’
13. x#y=15 T +¢=! 142x+7 .q B5|3r-
x—xz-l }-.8 3x g XX “ q I x+5v 2 ~06 1 -2
x4 5x=-s “3- “4 3x-26): b x+< s 2
Xz (7 g) Xx= -l -442 12 Ax=z 6

+Sye m -3y :
21 LAx+5y=-11 '40)“9 —-‘l ax+ 3y = 31(2)-7"] ‘118 ‘Bx+2y 12
6x—10y = 36 SJ"‘ 3| 7x-2y=4 WM-252Y 24 -2Yx -

4 :
lox -/ z\x—ol-ﬂ- zf 3(3)"3) L < = _lo

. stl| =AY 'If
I‘lx;l‘l(hz) 27)( S§ < 1+3 tt" X=-1
x= | X=2 ( ) 33 ._. 20 3
19. Find the equation of a line that passes through the points whose coordinates are (-1, 1) and (2, 7).
m- < d “3:fo‘9 ms 7-1 . a‘lzzx'rl
X~ %4 Z+() 2+ +3
132 (%) 3172 Je
20. Find the equation of a line that passes through the point whose coordinates are (6, 3) and is parallel = S=—e Slipf
totheli ith th ti =-2x+3. / I
o the line wi e equationy = -2x + _&-5= _ (X‘b)
,- 3s—-2x 12
‘} ==X ¥! Y
21. Simplify
8)x%-x® b) (—3b*a®)? o (x)(z2x™) d) (2x°y*)(3x*y®)
C] 2 ]
X' 3)’ e’ -1 -10 bxsa"
10 ) s
qbéa x7
22. Write the following expression involving radicals in exponential notation. : T
2 2 2 04
a)Va? x* b) V5% 57 o V6' (p‘* d) Y (cd)® C <
q
chﬂ( s (C’/) q9
23. Find three consecutive numbeg_such that the sum of the three numbers is — 15.
~6,"S, -4
24. Find three consecutive even intelgers the sum of which is 66. X +x+l+X+2 = /S
zD, Lz‘ z‘ﬁ 3x+35-ls
25. Write .35% as a decimal? sS% : .00 asS gx: - V2 4
26. Whatis 2.4 as percent? 2.4 = 240/ Xz -0

27. What is 40.5% as a decimal? Yo .S 7, = .40 LY

Simplify IS Px+R -2ux-7S
22 12+4.2+1° 29. 10+4% —(7+4.2) 30. 2(5x +9) — 3(8 +5)
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27. What is 40.5% as a decimal?

Y03 /s = .70

Simplify " Ry PX+R -2ux =15
28. 12+4-2+1° 29.10+4° —(7+4-2) 30. 2(5x +9) — 3(8x +5)
5.2+ 10416 =18
,) n - 14x+3
31.10x% +3x -1+ 3x* + 4x 32.-42+5-2+3(1-6) 33.-7(2x-5)
|3xt+-7x_‘ b 1 T‘/°_I$ -‘Kx*s
-2\
Solve
34. 4x+3(x—-2)=14-3x 35.—1+3x=7 X: Lo 36.2.\'+8=2
Yx +3x -0 : [4-3% 2 5 v 5 3. o 3 > Jo
10x = 2O = X= ' s (- - -
w= 2 s 2% 240 51 3>‘=‘5°
37 7(x—2)-2(x-7)=15)_ 38.-5=2x-3 39. §x+1=3
- - “ 3/ - - -
h M;::_os Zx ® 7" 33'“.2 . x=3
Xz - -
xz % il
40.-5(x-6)= x-12 41.4-18x=13 42.3x-5=8~-x
-Sa+3v s x-12 -18x=9 Ys B
_bk = -"z ) 's
X1 2 xX= =
9
43. Solve
) 22 b(67)(67)=6"2 0 (3%) 3%) = 3°
x x X' 1]
{95][96]=9‘ X _2X. -2 2c+Yx = 7
x < X -4 X .‘i
S ¢ - =-12
.20 x -3x .
w*'fs.x = o - s’x = -12 3
Ny=122 Xz 12 X:=%
A =
S
A=P(+1)
A=P(1-1)t

44, Suppose $6,500 is invested in an account that earns interest at a rate of 2% per year for 10 years.

What will the value be.

45. Initial Value: 20000
Growth rate: 15%

esoo( I+.02)"° =

200 oo(/./-s)(' =<

After 6 years, what will the value be?

7923.40

Yozl 22

46. Suppose a cars value is 45000 and decreases in value by 15% each year. What will the value of the

car be after 10 years?

47. Initial population: 120000
Decay rate: 2.5%
Population after 12 years

Y §oe (/- .18)"”
ySooo (.25)"°

12006 (/-.025)% -

= §¥57.38
Y8559, 50

48. Determine which sequences are arithmetic or geometric and the common difference or ratio

a. 44\}2 36, 32,......... A@tic/gcomctric? @orr=_~9
b. 2,6, 18, 54, 162,...... Arithmetic/g@metric) dor@®_ 3
c. 4,-8,16,-32, 64,...... Amhmctic/gf@c? do@y - ¢

d.=25510,. 55105150 <o

(@c/gcomctric?
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& =550 5, 10; 05w (@c/gcomctric? @)l’ r= 9

49. Given 3,9, 15, 21, 27, ...... Find
+0
a. the recursive formula b. the explicit formula C.azs
Q, - a,‘_,+b a‘. 60_3 a(_,y): 6(73)-5
Q.- 3
50. Given 3, 12,48, 192, ...... Find d,s = 447
~4
a. the recursive formula b. the explicit formula . A9
. a-l 19- |
Oz Aoy a, 3(«) a,- 3(<
n
a, =3

a,:3()"
a,, = 209/5“(735,20?
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